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1. 5=t 10 voif & IR ISTHT F Fafdd 8 ot 3 U §, afe 1S Iufiar 100 9 sifdres ysit &l
T HAT § ol TIH 100 Y T &1 GeaTeh+1 fohdT ST |

2. A gl Y b THH 3H § |
TTeld IR & foIT THRIAS Gedies fovar S |
IHIGIR SWIad e &1 3ifHard U 3 red & |

Instructions :-

1. Answers to any 10 questions related to the official language are optional. Candidates have to
answer 100 questions only; if candidates answered more than 100 question the fist 100 will be

evaluated.
2. All objective type question should be carry equal marks

3. There shall be negative marking for incorrect answers
4. Candidates should follow the above instructions



1. What fraction is 25% -®I9 &7 3/ 25% ¢ |

a.1/2 b.3/4 c1/4 d.None of these
2. 4/5%= ............ ?
a.8 b.0.8 c.0.08 d.0.008

3. Find the average of first 20 multiple of 12

12 % TYH 20 TUTS BT 3N F1d PIoT

a.124 b.126 c.120 d.130

4. Loss at 15% on a dress is Rs.225,what is the cost price in Rs.

TP QIR W 15% B g $.225 ¢ dl U A T1ge gait 1 8

a. 1727 b.1275 ¢.1500 d.1875

5. 100 cm= ....km

a.0.001km b.0.0001km c. Tkm d. none of above

6.20% of 1800 is ........ 1800 &T120% ...

a.720 b.360 c.540 d.1000

7. The value of pie is ... IS HTAM ...

a.3.14 b.31.4 c0.314 d.none of these

8. .......gas is used in gas welding ......... 1 BT IYART 7Y Jee 1T N fahar o 3|

a.Propane- WO b. methane-H39  c. accetelane-3™IEIdM  d. none of these-®1s gl
9. 'Gate way of India 'is situated in? Tcq 3% FSIT HaT &7

a. Mumbai- G&% b. Hyderabad-gexTaTg c. Delhi &l d. Kolkata- diderar
10. Which country won the ICC T20 2022 Mens World cup ?

ICC T20 2022 g% fay Y by ¢=1 7 Sitar ?

a. Australia- 3TRf@AT  b. England-§d8 . India ~YRd d. Pakistan-urfaseam
11.When did man first land on moon? A% Ugd! §R dlg TR &d I ?

a.1969 b.1957 c.1968 d.1970



12. Which is the longest river in the world? fa% @t e Telt Tct HIoT A 572
a. Ganga-TiTl b.Thames- 4% c.Amazon-3He d. Nile-t@
13. What is the tenure of member of Rajya Sabha?
RIIAHT & e BT HRIGTS e gielT 87
a. 5 year b. 7 year c. 6 year d. 4 year
14. Inflation means? TS &I AdAE?
a. Very high price-sgd 319 $iHd b. Very low price-9gd %H $id
c. Rising prices-9gd! g8 A d. Falling price-gcd g8 ®IAd
15. World Environment day is celebrated every year on.....
fay Tafarur feaw &R 919 ... 1 HA™T SIe §

a. 5" June b.5" Jan c.14" Sept d. 15" June
16. Which is the biggest state in India by population?
SR B S8 ¥ HRA T g 96T 9 DI AT 77

a. RajasthanGRYM  b. MP- H&AUGRl  c.Maharashtra- HERTY d. Uttar Pradesh —3tR UaxI

a. Cricket-fdhdhc  b. Hockey-8@!  c. Football-eard  d. Kabaddi-®ag!
18. The biggest hot desert of world is...... f3% T TaQ T TRY AR ... 7

a.Sahara-98RT  b. Thar-4R  c. Arabian-3RfSa9  d. None of these- 398 J ®Is gt

a.21 May b.29 June c.21June c.21 Dec
20. Where is Chilka lake? diceT 3iiel #8157

a. Odisa- SIS b. Kerala- %@l c. Gujarat-ToRld  d. Andra Pradesh- 3{RTcRT



21.Who is the governor of Chattisgarh? ST & IoTUTd D 57

a. Vishvabhushan Harichandan-fazeywr gikea b. B D Mishra- st €I it

c. Jagdish Mukhi- SRt d. Ramesh Bais-XHRIa¥T

22. Who is the Vice President of India? YRd % SRR DI 87

a. Ram Nath Kovind- I 91Y ®idl< b. Jagdeep Dhankhad- S7dIU ¢S
c. Rajnath Singh- &Y g d. Pranab Mukherjee-Jora gt

23. Who is the Current Governor of RBI? 3{R&l3{TS & aHI Ta-R HIT §7
a.Urijit Patel- 3foid Urea b. Raghuram Rajan- TRTERTSH
c. Shaktikanta Das- RIdileid G d. D Subbarao- St YssRTd

24. National Unity Day celebrated on........ 31T T&d fGaN....... BT AT S &
a.2 Oct b. 31 Oct c. 15 June d. 30 Jan

25. Who won gold medal for India in Olympic 20217

a. Saina Nehwal- 91341 7gara b. PV Sindhu -4t di fiig

c. Neeraj Chopra--iRsl AUsT d. Bajrang Punia- §SIT g
26. CBC coupler is checked by......

CBC HUTR B! S .........GART B oIt ©

a. Contour gauge b. Snap gauge ¢. Micro gauge d.Screw gauge

a. Eclass CTRB b. Spherical Roller Bearing

¢. Cylindrical roller Bearing d. none of above.

28. Which is /are wheel defects? UgHaT ¥ HI0T AT 87

a. Sharp flange b. Deep flange  c. Root radius small d. All of them

29. Baker gauge is used to check .......SR 5T &1 YANT fhent S & ford fowan i 3
a. Cup and cone diameter and ovality b. journal diameter

¢. Thread Diameter d. Flange thickness



30. To tighten the end cap screw the required torque is.........
TS &Y & B HI & (AU SHIRAD TP ... 8

a. 45kgM b.80 kgM c. 40 kgM d. 100 kgM

31. g1 &1 DR iffFad forg oy § gafda foar man 2

Right to Information Act was promulgated in the year......
a.2005 b.2001 c.2003 d.1999

32 . @R i A diei &1 o T g

PO in store term means

aUyHi X Primary offer b&¥G 3™ purchase order
c. TG U9 Purchase offer d. SWRIad T+t all of above

33. Y@ fAHTH 1989 Ha AN g
The Railway Act 1989 came into force on
a.01.01.1989 b. 24.06.1989 c. 12.06.1990 d. 01.07.1090

34, Tt 1t WU &1 S99 TR ot & S IS T

Recognition to any association will not be granted or continued unless
a 3R Xa Yadh! 1 Tt o wnfira g afge

it must consist of a distinct class of railway servants

b.T® g a7 & gl YeId a9 Hewa & g U g 1fee

all railway servant of same class must be eligible for the membership
.39 U W9 ffYem & qed Usifehd g1 A

it must be registered under Indian Trade union act

d SWiad 94t all of above

35. RS [D & A] oM R fgw 91 & e wem e S g

Who is the competent authority to make rule on RS [D&A] Rules?
a.W%QTgCﬁ President of India b. Y&d TAT Ministry of Railways

c. Yo [¥Th] Member [staff] d. Tda Y a8 Secretary Railway Board

36. Fafafed € osy FuuF deads AT |

The following are not in penalty D&A Rules?

a. WM Censure b. Td1a= Warning c. TR IAF Stoppage of pass
b. d.fadt ft THuM & UFURT ¥ aelt /The recovery from pay of any pensionary loss



37.D & A fTH 1968 AN -TE 8T
D&A Rules 1968 will not apply to

a. TR HHART Permanent employee b. 3Wfed Apprentice
c. 3Tt yHies Casual labour with temporary status d. ®Is T8 None
38. LAP & U499 & forg Sty I o1 g
Maximum limit for accumulation of LAP is
a. 240 a7/ 240 days b. 180 f&1/ 180 days
c. 300 &1 /300 days d. 99 &1 PI5 W1 8! /No limit for accumulation.
39,778 U AISHT &1 8| New Pension Scheme is
a. RITTA TR ReT Single tire system b, & SRR UG Two tire system
C. @ TR YU Three tire system  d. 370 ¥ ®1s gl None of these
40. Railway servant shall be entitled to ....... days LAP in a calendar year.
Y 49 TP o AN A ........ T&AI & Tawdt & gpar il
a. 15 b.45 c.30 d.60
41. The ceiling limit of Incentive for WRS Raipur is fixed at ..........
WRS IR & o8 578ET &) st @ ....... Reffa d i B
a.33% b. 45% c.40% d.50%
42. Leave encashment again can be claimed after a gap of ......... years
......... auf & SRTA & T1E fhR T T THHRIAC T aral foba S el
a.5 b.1 c.2 d.3
43. What is the maximum limit of maternity leave? AT@ AT &1 SHfwHaw AT F1 87
a.3months b.2 months c¢. 6 months  d.12 months
44. Maximum limit of CCL is........... Ot Td ot SHfaH I

a.365 days b.730 days ¢.210 days d. none of these



45 ... Is the standard form for suspension of railway servant, ¥ ¥d@ & Fde- &1 A B

a.SF-1 b.SF-2 c.SF-3 d. SF-5

46. 3120 ZE B BN HHART gaRT Hfas A 3Rl F M arelt i gt F feba S B

Leave not due is debited against the leave ....... Which the employee is likely to earn
subsequently

a. LHAP b. LAP C. BB THIR Casual leave
d. LAP 3R LHAP i / Both LAP & LHAP

47 3 TS U 1968 & TEd YR - ! qHg A T | |
What is the time limit for submission of appeal under D&A Rules 1968?

a. 45 days b.35 days c. 25 days d. 55 days

48 58T Frgfad Suesy 78 @ o FHifeafad et ) Fged miteR & w0 & 71 S 3|

Where appointing authority are not available who should be treated as appointing authority

a. AU BRI Controlling Officer b. DRM c.GM d. PCPO

49. faS=T A 37T GBI S ATl WFAHROT HIUT & Who is the Authority to grant study leave
abroad?

a. Y@d &S Railway Board b. Sitd GM . 313RTH DRM d. dRfidtsit PCPO

50. V9T J §eH & AHA A YA HHARY BT YA {68 garT faarR far o gedn )

Reappointment of Railway employee in cases of removal from service may be considered by the

a. RN BRI Revising authority b. SFRMEATES JHYBRI Disciplinary authority
c. IR 3RSt & IWR SIRIBRT /Higher than the Revising authority  d. S8 ¥ @18 Tal/None of
the these

51. APM restricts the BC pressure coming from DV to ............in empty condition.

T el R A S 3 a1 S g ) A v R e R |
a. 1.0+_0.25 kg/cm2 b.3.8+_0.25 kg/cm2
c. 2.2+_0.25kg/cm2 d.5.0+_0.25 kg/cm2
529 FAftfa ST 9T & v Reiiug @t 3afd g |
Newly built BOXN wagon first POH periodicity is
a. 4.5year b. 6.0 year c.5.5year d.5.0year



53 .What is the POH interval of BVZIl wagon.

ddSIg TS o &1 deiivd SidRTa T ]
a. 1 year b. 2 year
c. 4.5 year d. 18 months

54 .If residual life of BOXNHL wagon is less than 3 years then will be the marking of return date.
g BOXNHL o7 &7 3Gy Siia 3 a9 9 & g dl aTu=i & dRIG &l 3 o1 g |
a. A+18 months b. A+ 3 years

c. A+ 4.5 years d. A+6 years
A= month of dispatch from workshop [G&=ITT 3 fee &1 HgHT |

55. What will be the ROH interval of BOBRN wagon.

FAIHSHRTT T BT SR ATT SR T BT |
a. 18 months b. 24 months
¢.12 months d. 30 months

56. How wheel gauge is measured.

A S H [T ST g |

a. On the top of flange at three location at 120 degree apart
A ga fRT & 2T W i R W 120 SRR & SR W

b. below the top of flange at three locations at 120 degree apart
e ga frrRT & 2 & = i RIFAT R 120 St & sramar

c. below the top of flange at four locations at 90 degree apart
@ gai foRT & Y & - IR R &R 90 SRt & 3ramar

d. Onthe bottom of flange at three locations at 120 degree apart

fpar g3 fhART & ad R o [T R 120 SR & iR R

57. What is the allowable variation in tread diameters on the same on the trolley in wagon at the
of wheel changing in workshop.

FHM A U Saeid FHY T W T 81 STell TR =eH aret o H Witeprd fierdl /g |

a. 5mm b.3 mm
c. 13mm d. 25 mm

58. What is the technical pamphlet issued by RDSO for CTRB maintenance.
IRSTTHA GaRT VIR SFR&0N & 1T SR} qeb-iiep! Yhale T |
a.G-72 b. G-95 c.G-73 d.G-81

59. The patch plate should not be less than ......... mm thickness for floor plates of open wagons.

A Il & B @l & e 0 wie ...l A ¥ % 6 8 =t
a.3.15 b.5 c.6 d.z2



60. G-76 deals with which activity of wagon maintenance.
G-76 & TEREE F g TR I Gada g
a. CTRB b. Paint c. air brake  d. CBC
61. What should be the Piston stroke in loaded BOXNHL?
dles BOXNHL # fike i &1 giH1 1fgd ?
a. 120mm+/-10 b.75mm+/-10  c80mm+/-10  d.130mm+/-20
62. At what pressure testing of pipes and joints for leakages should be done during POH?
Heiitg & R RE1a & fore ursy iR Sl &1 usier far ST a1fgu ?
a. 5kg/cm2 b. 6 kg/cm2 c. 10 kg/cm2 d. 8 kg/cm2
63. What should be maximum CBC height in wagon.
AT Sifereba Hial IS fobaft 811 =y
a.1105 mm b.1030 mm c.840 mm d. 1080 mm

64. APD stands for.......

Auto protection device
Auto prevention device
Anti pilferage device

o N0 T o

Auto pilferage device
65. What is the length of BOST wagon over head stock?
7S }IP & SHW BOST I P! el et 87
a. 10034 mm b.12800 mm c9784 mm  d.12000 mm
66 . What is axle load of BOXNR wagon?
BOXNR 47 &1 Tad dlS &1 57

a. 20.32 tonne b. 22.9 tonne c. 25 tonne d. none of above.



67 . Floor plate is provided with stainless steel of ........ mm thickness in BOXNR wagon.

BOXNR a'H A iR wie .......firf Aiers & a9 Td & I UeH &1 9l &

a.3 b.4 c5 d.3.15

68 . In new scheme of the wagon number ,5" and 6" digit denotes.......

I R B TS AT A 59T 3R 67T 376 ....... DY ST B
a. year of manufacture —3@re & a9

b. Owning railway —Ssefid Yed

c. Check digits —3id Sra

d. manufacturer — 3diqd

69. Permissible maximum flat surface on tread in BG wagon is........ mm.

dioft 3 B T W A SHwHaH THad Iag . @
a.35 b.40 .60 d.75

70. Which colour is used to mark BP coupling heads?

it wufeiT 359 o1 FRiEia B & e g 1 1 IughT 3 e 3|

a. Yellow —dtar
b. blue — =fta
c. white -t
d. green &1

71. Leakage in air brake system should not be more than........
TR 3 R AT ........... 3 3 Tg1 g1 AT |

a. 0.25 kg/cm2 per minute

b. 0.50 kg/cm2 per minute

¢. 1.0 kg/cm2 per minute

d. none of the above

72. Distance between protection tube end and mark on adjuster spindle is......
TR Wied R YIeee S[d U8 3R Hidh & oftd &1 g1 ©..

a. 'e' dimension b.'b' dimension c 'a' dimension d. 'd' dimension



73. BMBS in air break system stands for

TR 3 Ren & durdiey &1 a1f §

a. Beam Mounted Brake Socket/dlH AI3¢S sl Hidhe
b. Bogie mounted break socket/alTl AR3CE s Aldhe
c. Bogie Mounted Beam System afl AI3cs W Riey
d. Bogie Mounted Brake System St Aidce s Req

74. The main purpose of providing elastomeric pad is to reduce.......

a.wheel flange wear-Ufgd & Wis &1 fe’I@ b jerk —3icaT
c. Load -4R  d. speed- TIfd

75. In air brake system, on releasing of brake the air from brake cylinder goes to.........

TR 5o REA A 5 SR B | 5o e A gal ... 9 o g
a. Atmosphere- didlaRUl  b. DV c. AR d. BP

76. Roof sheet thickness in BCNA wagon is ............. mm

T o A =% e B Aeks . A
a. 24 b06 c16 d25

77. Wheel base of casnub bogie is ........ mm
FES ST BT Fre 99 ..., A g

a.2000  b.2400 ¢.1200 d.900

78. Minimum wheel dia of Casnub Bogie is ....mm
$ge it 1 gaH ufear o .. i |

a.1000  b.906  ¢.1092 d. 950

79. BOXNHL feed pipe pressure is ......kg/cm2
BOXNHL 1S UIU &1 G804 ......kg/cm2 §

a. 5 bé c.38 d. None of these

80. Permissible limit of Deep flange in wheel is ...mm
ZId A Sa Wi Bt Srgrg o B R

a.35 b.50 .28 d.22



81. oo, gms Grease is used in CTRB ........ 9 W CTRB & YT fora e §
a.390+/-20 b.250+-30 c.NIL d.1500

82. A-dimension of BOXN is ....mm BOXN &T A-SRHTH .....mm &

a.85 b.22 c.16 d.70

83. Material of Floor sheet of BOXNHL is ....BOXNHL & GaR =fic &t amiht ... 8
a. Mild Steal b.Corton Steal c.IRSM 44 d. None of these
84. Piston stroke of BVZl is ......... mm S 3HE &1 e Wi .. fnft g

a. 22 b.32 c.72 d. None of these

85 No. of side stanchions used in BOXNR wagon are

BOXNR 7H B IUTNT fhT ST aTel WTE € WA & T R ¢ |

a.12 b.09 c.11 d. None of these

86. Permissible wear in knuckle nose is ......mm & Al B 3FHY fol1E....mm &
a. 10 b. 08 c. 95 d.06

87. Size of anti rotation lug is ........... mm, Tt AT A BT 3HR ....mm g
a.210x16x16 b.220x16x16 c.235x12x12 d.310x16x16
88. CBC control gauge No.3 is used to detect the defect of .......

el drele AT HaR 3 BT I ........ b SR BT UdT A & fore fabar i 3

a. Knuckle b.locking piece  c. Knuckle thrower d. toggle

89. In wagon stock during service Maximum slack permitted in CBC is ....mm
a1 3 IRF T T A G A s W B ot e 3|

a. 12 b.19 c. 25 d. None of these

90. Helical springs are used in ....... draft gear.
e BT & ST ..... ST0e IR A fobam o @

a. MK-50 b. RF-361 c. HR-40 d. None of these &I =g



a. Yellow-di@ b.Red- @@ c. Green- &1 d. None of these ®Is gl
92. ... is the Maintenance manual of Casnub bogie,...... FId STt HT 7@ WG B3 §
a.G97 b.G95 <cG72 d.Noneofthese

93. The Maintenance manual of BOXN wagon fitted with Casnub bogie........
HIE SNt P TTY T YT T BT RARATG A3 ...

a. G97 Db.G95 <. G70 d.None of these

95. ........ mm packing is used in Casnub Bogie to adjust CBC height.
i I TS T FHARITA R & forw pare anft A ... el UfdheT o1 SuiiT fopan wirert ©

a37 b25 ¢35 d.None of these

96. 0.003x0.02=?

a.006 b. 0.006 c. 00006 d. 0.00006

97. What is the average of the numbers: 0,0,4,10,5,8 5 ?
RSl T Sd |6 0,0,4,10,5 & 57

a.2 b.3 c4 d.5

98. What is the value of x in the equation 3x-15-6=07
FHIPRUT 3x-15-6+0 T x PT T &1 57

a.7 b.8 c.9 d. -9

99. What comes next in the sequence : 1,2,6,22,--?
SIHH T T T 3T § :1,2,6,22,==7

a.82 b.84 c.86 d.88



100. 3fS! Bt Ud B |, ITH F 20% TS U B 3R 68 3Bt U A G | B! A Hdt SiS) & T I
EIIEY

In a basket of eggs, 20% of them are rotten and 68 are in good condition. Find the total
number of eggs in the basket

a. 8 b60 c75 d40
1071, JSTHTST g & SR g A & 101 47 3oy - &5 & 31T 3
a. bR b g c. UYH ST d. TR
102. IISTHTST ST 1963 F ded ISTHIT I B i Tewg 21 B
a.33 b. 25 c. 30 d. 20

103. ITSTHTST SHfAFTH 1963 & TS 8[1] & TR HIVT 39 AFTH & TRASH! B HTAT-dd B P Q1T
[EREKEIR IR

a. AU b.IHE CITWWHR  d.PHg WHR

104. fo=<t feaw ®a AR o1l &

a. 1130d b 4RTR ¢ 28GR d. 14T

105. TSTHTST T 1976 & IR R0 USR forg & B 37T 3

a® b cT d o AT A g gl

106. ST T 1976 {5 ITsT A AN 8 81 87

a. R FWR b URHENE  c dAWEg  d.IRd

107. Tg B IorHTT iRl 3R faf SR el wfaem & forg siqeve A Susfia 872
a342  b.343[1] c.343[2]  d.343[3]

108. 379 Y P10 AT @' &7 & Scid 781 311l 87

a. TR b.HERIY cUSE  d. 3H

109. e fg=<t wfirfa for T & srefe ot g

aVUMHAl b UG WA | APUd  d. HFT S HAT

110. TH IASTUTST ST & 318 B 4 |

a MAFMR I b A M T@utd ¢ Sl aRmor  d. o o Bga



